1 J=110  Funy cocx, Nor Too Fast QESPECT @ 2. %o AN SEITMERSONL 9

o 1= — 1 g == ( 4 — == — = —
SoLo i i VOICES ; ~
5 Iy Iy ) 1y D Y e O e | =Nl = = m=laml
o ( i = ) = -
i L. bR L. bR 9
FLurr 1-2 2 fLi-2
Hoso H8
£E S !
Fagot : : £ s
ES KLAZINET if £ W es = — =
KLagINET 1 G Wi =
— — I— —
KLARINET 2 5 = ) = — —
?
KLagNeT 3 = w3
BAS KLAZINET KL 84S
e T e T
Actosax 1 atod
mf
ALTosAx 2 = ALTO 2
mf
TENogsAX TENOR
mf
BARITONESAX ; BAZITON 2
Ei
| ]
Hooen F 1-3 HeN 1-3 |
= = =: =
HooeN F 2 = HEN 2
ToompET 1 = er i
= = =
ToOMPET 2 S=r : Top 2 = - — =]
£
TROMPET 3 S== %P 3 ;
. bo 3 b b b
TeOMBONE 1-2-3 == 2 | TSONES £ =2
f i i
BagiToN 1-2 = = = 8T 1-2
s BES i = 84S BES
= = F
Girase ; " | GITAAR ; "
. £ Y F7 £
£ (
PN 3 === F == 3 £ == T = T = PIANO { 7 =3 > £ £ E3 B 3 =3 £ = e =3 £
\ WL | | | T | | Ny , N .
( (
Ea Eq Y Ei El ES 3
i
BasaiTane : =] = 4SS : = = =
=T [
BEATEING
PeRCUsSION A z PERC
ADD COWBELL AND| CONGA'S AD LIS,
|
Oeums D2UM
r T U T T QJ u

WWW.MUSI-VELSUMNL

1

WWW.MUSI-VEZSUMNL




, R ~=
( gl 14 = =T 14 L= — == 1= ===
VOICES ; ~ . ~ R
| b Y b Y b Y = = in=Nanl
15
fLi-2
H8 £
f \ R R ,
—— == El
15
K Ees =
wi 5z | i | | it n i
w2 = ] ]
K3 = -
3 == = =3 = S
[ : :
b = = ELIRG; = 37 < = ELiS: 3 EEio ey
15 B 5 -
o 4 s . e e e
ATO 2 = =
== E=gES
TENOR
3 =+ = SSE=S ==
BARITON : : > :
= = Ei
15
N 1-3 [
HeN 2 =
15 _ R
L(IBY =
TP 2 = = = = = = = =
= S = == =) = =
90 3 ﬁ N = H = N = H e ~
15 $8 & 3 g $§ $: d 2 $ § b 2. 3 i3 ‘8 &
THONES _ 1 e § : S L2 5
15
wr 12 [
84S 8ES
== F
GiTaAg b ; ; }
7 7 7 7 7 7 7 7
s @ F 6 F 6 F ¢ F
(
PIANO { N A M 3 i ¥ T2 5 5 7 i I =
| | b T b, T | h . .
‘ Ei 3
15
8ASS 5 > > > ==
s [ S —— [ = [ ==
15
PERC S
%M : (11
r T U T r T [ [ r
WWW.MUSI-VERSUMNL 3 QESPECT

3 -3 -3
(i g = FEEE =222 = =
VOICES ;
[ = n=lanl
23
fLi-2
H8
4 , R R \
= =
23
K Es
wi it | k) | it |
w2 = = =
w3 = =
3 = = = — = =
KL s :
B EEIzE a0y El el ECIe ES ECIR EE
B, R ) ,
ot PP ; :
ALTO 2
SSSES
TENOR = = >
3 SSSSS = =
BARITON : > : :
= [
HeN 1-3 2 = ~ ~ — ~— ~
HeN 2 T
2 )
er i s
TP 2 = = = = = = = =
= 1= | m— v v = — v 14 — =
w3 g = —_ — — — — =
2 & ‘g g 5 & g & & g gg $ s & & g g s
TSONES : : : : fg
23 - -
st 12 . i P . N
3 P P
84S 8ES
== P
GITase i ; t t
7 7 7 7 7 7 7 7
23 4 F [} F [ F [ F
(
PIANO { N id e hd El > = |2 T2 5 3 7 EE R =
. | | b T | . T
‘ ES
23
anss ” R N R
T e |- [
23
PERC -
D2UM 1] ] 11 ]
reogtortrgt otort s
WWW.MUSI-VERSUMNL 4 QESPECT




